SPORTS OFFICER

General Knowledge
M W

The following were the rulers of the Soma dynasty of Kanker region of
Chhattisgarh :

(1) Yashoraj (i1) Karnaraj (i11)) Laxmanraj (iv) Somraj
Select the correct answer :

(A) (1), (i) (B) (i), (ii1)

(©) (), (i) (D) (), (iv)

SAIG & P &F H AT &1 AT AT, foas Aeafef@a amas 3 -
(1) IJARTSH (i) woRT= (iii) aeaors (iv) IR

Hﬁ' 3T gﬁt" :
(A) (1), (i1) (B) (i), (i)
(©) (1), (iii) (D) (i), (iv)

Match the following (British Superintendents posted in Chhattisgarh during
British Protectorate period and events) :
LIST -1 LIST - 11
(Superintendents) (Events)
(A) Capt. Edmunds (1) Dispute between Bastar and Karod states
(B) P.Vans Agnews  (2) Transfer of capital from Ratanpur to Raipur

(C)  Mr. Sandis (3) Transfer of administration of C.G. to Marathas
(D)  Mr. Crawfurd (4) Revolt of the zamindar of Dongergaon

Select the correct answer :

(A) A-1,B-4,C-3,D-2 (B) A-2,B-3,C-4, D-1

(C) A-3,B-1,C-2,D-4 (D) A-4,B-2,C-1,D-3

gafaa o (e weor & d oardee # ey 3 e wd
EIE?lTQ\") :
-1 gdt -1
(3referen) (geT)
(A) PP TSHS (1)  THR IR HIe RATHd| & o1 faarg
B) WA () IR I IR IS RIHIRO]

© I8N (3) BTG P YR BT AS! DI ST
(D) i wws 4) SR & THiGR &1 fagis
ol IR AT

(A) A-1,B-4,C-3,D-2 (B) A-2,B-3,C-4, D-1

(C) A-3,B-1,C-2, D-4 (D) A-4,B-2,C-1,D-3
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3.  Who of the following was imprisoned by police for denying to issue free
entry pass to the Superintendent of Police in the District Political conference
organized at Raipur on 23" March, 1922 ?

(A) Pt. Ravi Shanker Shukla (B) Pt. Waman Rao Lakhe

(C) E. Raghvendra Rao (D) Seth Shivdas Daga

23 @M, 1922 # Y #A 3mAfST TSl sl qFded # glerd 3rdierd
Pl JUFT YA T & F PR A W Jfod o [Aefei@d & @ frd fwar

fopar a1 7
(A) U. AR et (B) U. drHARIE ol
(C) . Tgdeg TG (D) @5 RiagrE smem

4.  Who of the following was the Deputy Commissioner of Raipur when the
Zamindar of Sonakhan Narayan Singh revolted in 1857 ?
(A) Major Smith (B) Charles Elliot
(C) Captain Wilkinson (D) Major Sidwell
1857 & HEMEE & SHGR ARIUdE & fAage & AT TIG & B
HAMR fAFafei@a & & &la a1 ?

(A) dSR FEaY (B) drew sferge
(C) Frea facrfras (D) #SR T&sde
5.  Arjungarh cave is situated in
(A) Balrampur (B) Dantewada
(C) Sarguja (D) Konda gaon
SITE I I T &
(A) TERTHAGI (B) gedarst
(C) wwsm (D) wrosrTa
6.  Nandraj hill is situated
(A) Dantewada (B) Narayanpur
(C) Bastar (D) Kondagaon
eIt TSt ReUd &
(A) Eedarst (B) ARMIUIGY
(C) T*&R (D) lvEHIa
7.  The origin place of Eb river is
(A) Khurja Hill (B) Ludeg Hill
(C) Camoor Hill (D) Maikal Hill
$q AT P eI T &
(A) I Terst (B) oS wETEl
(C) PR uerst (D) #Heper TErE
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10.

11.

12.

13.

Shakambhari project is started in which year ?

(A) 2002-2003 (B) 2003-2004
(C) 2004-2005 (D) 2005-2006
QMPFHY AT e URY &y IS 7
(A) 2002-2003 (B) 2003-2004
(C) 2004-2005 (D) 2005-2006
When was Chhattisgarh tourism board constituted ?
(A) 8™ January, 2002 (B) 18" January, 2002
(C) 8™ January, 2003 (D) 18" January, 2003
SATIG AT AUSS Pl IS dhd fohdT AT 7
(A) 8 JFIadr, 2002 (B) 18 SI=1adt, 2002
(C) 8 Fadr, 2003 (D) 18 J=adr, 2003
Which of the following is largest sanctuary ?
(A) Pamed (B) Barnawapara
(C) Achanakmar (D) Bhairamgarh
T & & Pl I1 TaH F37 FHIRUT & 7
(A) urHs (B) IRaammr
(C) 3IFATARAR (D) 9IS
Gold reserve is at
(A) Dhupkot (B) Chhura
(C) Rajadevari (D) Jangada
T & HUSR &
(A) guPe B) w0
(C) TSy (D) SireTsT
Kerta is named for which industry ?
(A) Rice Bran Oil (B) Sugar
(C) Cement (D) Paper
Bt fora AT & forw S Srar § 7
(A) T3E 91 AT (B) ==
(C) HA=< (D) rarst
Who is the author of the book “Prachin Chhattisgarh™ ?
(A) Dr. Baldev Prasad Mishra (B) Shri Pyarelal Gupta
(C) Dr. Pardeshi Ram Verma (D) Dr. Romila Thapar
“Urie] SATIG” JEceh & oI@eh Bid & ?
(A) 3i. geica garG fHam (B) " WIReTeT Id
(C) f. WM A gan (D) =t AfdFer g
3
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14.

15.

16.

17.

18.

Sports

Which among the following drama is written by Dr. Shankar Shesh, on
which Hindi movie was made ?

(A) Raktbeej (B) Ek aur Dronacharya

(C) Gharonda (D) Kaljayi

fAFAT @ # @ fhg Aced HY 3l AT AV gRT Torer = &, oF W e #
fhear a=g 18 ¥ 7

(A) Thdra (B) T 3iR g

(C) =iar (D) erereT

What do you understand by “Raigarh Gharana™ ?
(A) Dhrupad Gayan Shailee (Style)

(B) Katthak Nritya Shailee (Style)

(C) Karma Nritya Shailee (Style)

(D) Sarhul Nritya Shailee (Style)

“TYING ERTAT F 3T FAT FHAST & ?

(A) gue - TFT — Aol (B) &c¥® - g — At
(C) AT - g — Aeh (D) &gl - g - Aeh
On which festival ‘Sua-Nritya’ is performed in Chhattisgarh ?
(A) Holi (B) Deepawali

(C) Chherchera (D) Pola

oeiETE 3 GHT-Aew RoE cdleR 3 B ¥ 7

(A) erelr (B) Qraeh

(C) BB (D) urerm

On which festival the farmers of Chhattisgarh decorate their bullocks ?
(A) Hareli (B) Pola

(C) Gowardhan Pooja (D) Holi

oieTe & fre er & frara 3oa 39t & @ § 7

(A) &l (B) drerr

(C) Made gam (D) et

In which festival, women of Chhattisgarh sing the ‘Gaura-geet’ ?
(A) Pola (B) Navratri

(C) Deepawali (D) Holi

oI # Afge? foha digr # aivr-ofia” el § 7

(A) drerm (B) daify

(C) <raraelt (D) erelt

4



19.

20.

21.

22,

23.

‘Kurukh-dialect’ is spoken by which tribe of Chhattisgarh ?

(A) Kamar (B) Kondh

(C) Oraon (D) Gond
‘PW-dlell” SIS DT fhH STl §RT arell STl & 7

(A) PAR (B) iy

(C) =ia (D) 73

Who performed “Bansgeet” ?

(A) Basdewa (B) Raut

(C) Dewar (D) Bansod

(A) Facar (B) uza

(C) gar (D) 913

Padma Vibhushan Smt. Teejan Bai is famous for which art ?
(A) Bharthari — Gayan (B) Chandeni — Gayan
(C) Pandwani — Gayan (D) Jash — Gayan

uer faamer S Nsfarars fre wer & fow ufdeg € ?

(A) WA - WA (B) T&A — amaT
(C) usdrEl — I (D) QA — A

‘Singhanpur’ of Raigarh district is famous for

(A) Wood-craft (B) Sculpture

(C) Cave paintings (D) Katthak dance
(A) Frs-Iew & fau (B) #fd-werm & forw
(C) da-f7 & fow (D) ®cU® g & fow

Freedom fighter of Chhattisgarh Shahid Veer Narayan Singh belong to

which tribe ?

(A) Oraon (B) Kanwar

(C) Gond (D) Binjhwar

SATHIG & TITIAT-HITH VATl GG dRARIY &g fhE STafd & d ?
(A) 304 (B) @

(C) s (D) fdsrar



24.

25.

26.
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Who among the following tribes do ‘Bewara’ - cultivation ?

(A) Oraon (B) Bhunjia

(C) Baiga (D) Binjhwar

TRD Wl A dTell 3T Sefollid fFdiof@d & & did & 7
(A) =ia (B) Hforan

(C) dam (D) fdgmar

On which festival farmers worshipped their agricultural equipments ?
(A) Deepawali (B) Hareli

(C) Chherchera (D) Akhati (Akti)

fra eR & foRa 3a% FR-3uaRol A ger wRA &

(A) Eraraeh (B) wel

(C) oW (D) 3@ (3rpfa)

In which form is found the role of police organisation in Chhattisgarh ?
(1) Staff Agency

(i1)) Line Agency

(i11) Board Agency

(iv) Autonomous Agency

Choose the correct answer :

A) (1) B) (@, (i)

(©) (1), (i1), (ii1) (D) (@), (i), (iid), (iv)
TArIe H gford oo & RS fhE ®U A arg S & 7
(i) T AfFAIOT

(i) omea 3fRHIoT

(iil) Fuser fFEIOT

(iv) Tarad 3fAeoT

el 3 &l I hIfAT .

(A) (1) (B) (), (i1)

(©) (1), (i), (iii) (D) (), (i1), (iii), (iv)



27. Assertion (A) : No punishable proceedings can be established in any court
during the tenure of its post against the Governor of a state.

Reason (R) : In the Constitution of India there is provision for such
protection for the President of India and the Governor of states.

Choose the correct answer :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

FAT (A) : Tl ToT & TouUTeT & Aeg 3P UgEa™ & SR fohar
AT H IS &3 PR TATAT del H ST Thdl & |

FRUT (R) : ART & IRAUET H AR & Tpufa 3R To7 & Togura & forw
T wefur & fow sudy ¥ |

e TR T I HIAT -

(A) (A)3IR ®) =t G € 3R (R), (A) B T 8T ¢

(B) (A)3R R)F&1 T &, Weq (R), (A) T T A& 7 & |

(C) (A)FH &, Wed (R) e & |

(D) (A) 7T &, Weg R) TE & |

28. Who is matched in the context of Panchayati Raj Committee ?
(1) Ashok Mehta
(i1) Balwant Rai Mehta
(i11) Jubin Mehta
(iv) Pratap Singh

A) () (B) (1), (i1)

(C) (), (1), (iii) (D) (1), (1), (ii1), (iv)
A U @fAfd & Gt A dia gafod & 7

(1) 31N AT

(ii) Torded TT Agdl

(i) Sffeer Fgar

(iv) udma &

A) () (B) (1), (i1)

(©) (), (1), (iii) (D) (1), (in), (i), (iv)
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29.

30.

31.
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Which one among the following is not the function of the State government ?
(A) To assist the Minister in the formation of policy.

(B) To act as a channel of communication between one Government and
another.

(C) To prepare drafts of legislation to be introduced in the Assembly.
(D) To assist the legislature in its secretariat work.

fAFafof@d d & dla a1 & T WEHR T Pl & 7

(A) Afa @AOT F FH B FEHIAT BT |

(B) T WHR ¥ @Y TR & ALY HAR BT ACTH Tl |
(C) RUTTHHT H Pl & UEATd Pl YIFT AR AT |

(D) TR & aftareila ot d gerar &ar |

The ideal of ‘Welfare State’ in the Indian Constitution is enshrined in its
(A) Preamble

(B) Directive Principles of State Policy

(C) Fundamental Rights

(D) Seventh Schedule

AR TRUT A “FeITRRT T dT e bl Uiasia frar = & ?
(A) d"iaurd & gEdraen

(B) =T & =Aifa faderd dca

(C) Hiferp 3fAPR

(D) wrqdt regeer #

A Chief Minister of state cannot vote in the election of the President because
(A) He himself is a candidate for the office of President.

(B) He is an acting Chief Minister.

(C) He is yet to prove his majority in state legislature.

(D) He is the member of upper house of state.

Teh U T FEIAN TFAfA & gAd F HAderd 1 HT Hebell, Fifh
(A) g Tag ugufd ug &1 geanl ¢ |

(B) g% U &1 HrIdED EIHA & |

(C) 38 Ty Raurwqen # ggAd &g o ardhr ¢ |

(D) dg TSI & 3Td UGl Pl HGET & |
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32.

33.

34.

How the Deputy Sarpanch of a Gram Panchayat can be recalled ?
(A) By the majority of Gram Sabha

(B) By the clear majority of Gram Sabha

(C) By the 2/3 majority of Gram Sabha

(D) None of these

IMH ORI & 30 A Bl By egraldd fhar ST dehar & 7
(A) oA §T & dgAd 4

(B) o @em & TUE 9gAd 4

(C) omwr @M & 2/3 9gAd 4

(D) 3 @ A$ ALk

Which is unmatched in the context of election ?

(A) Sarpanch

(B) Deputy Sarpanch

(C) President of Janpad Panchayat

(D) President of Zila Panchayat

faraa & dei F = gafaa a8 ¢ ?

(A) ®ug (B) 3u ®ud

(C) SiUE gard 3regst (D) TSrell garad 37egst

What is correct about the Quorum of Gram Sabha ?

(1) Quorum is 1/4 members of Gram Sabha.

(1)) Quorum is 1/10 members of Gram Sabha.

(i11) In Quorum the no. of women should be 1/3.

(iv) In Quorum the no. of women should be 1/4.

(v) For Quorum Deputy Sarpanch is responsible.

(vi) For Quorum Sarpanch and Panch are responsible.
(A) (1), (i), (v) B) (@), (iv), (vi)
(C) (i), (iid), (vi) (D) (i), (), (v)
IMH FAT Fr qogfa & fowg #F T F=w ¢ 7

(i) JoTqfc oM FHT & 1/4 Feeai & gl € |

(i) vrorgfd o @ & 1/10 de&ai | &I & |

(iil) FroTqict & Afgematt & FEar 1/3 g afke |

(iv) sorgfa & aAfgenst &r g&ar 1/4 g afke |

(v) Jvgfd & forw 30 TRUT e § |

(vi) sogfa & forT @Xug IR 0T sRerRT € |

(A) (1), (i), (v) B) (@), (iv), (vi)
(C) (i), (iii), (vi) (D) (i), (iv), (v)
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36.
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How a Sarpanch of a Gram Panchayat may be removed ?

(i) By no-confidence motion

(1i1)) By Recall

(i11) If he fails for Quorum in subsequent 5 meetings of Gram Sabha.
(iv) By Collector

O ®

(©) (@), (i), (iii) (D) (), (1), (i11), (iv)

IATH TIId & XTI Pl hd AT o bl & ¢

(i) 3rfauma geaa gro

(ii) vcgTad= gri

(iil) af¢ ag I AT A UMT IMaR dodi A OGS F 3FA ST § |
(iv) el dolael gRT

B O ® .

(©) (@), (i), (1) (D) (1), (i1), (ii), (iv)

In the scheduled area who presides over the meetings of Gram Sabha ?
(1) Sarpanch.

(i1)) Deputy Sarpanch.

(i11) A person elected by present members of Gram Sabha.
(iv) That person who is from ST category.

(v) That person who is from SC category.

(vi) That person who is not a member of Gram Panchayat.
(vii) That person who is member of Gram Panchayat.

(A) (i), (iv), (vii) (B) (i), (), (vi)

(C) (i), (iv), (vi) (D) (), (v), (vii)
HIGAd & H A FHT BT AShT DI ITCALTAT hied BT & 7
(i) U= |

(i) 3u U= |

(iii) oImeT FHT & 3UTEYT TeEdr gRT Aaiaa ke |

(iv) vgm <afeh St 3reielm Fa9t & & |

(v) v@r =gft St 37eT a9 & @ |

(vi) 0FT gk St T UATId T He& T o & |

(vil) ¥9r gk St I UATId T HEET &l |

(A) (1), (iv), (vii) (B) (iD), (v), (vi)
(©) (i), (iv), (vi) (D) (@), (v), (vii)
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37. If a difference of opinion was found among the Gram Sabhas of a Gram
Panchayat, how it shall be resolved ?
(A) It shall be resolved by Gram Panchayat.
(B) It shall be resolved by Government.
(C) It shall be resolved by majority in the joint meeting of Gram Sabhas.
(D) It shall be resolved by the Gram Sabha of Gram Panchayat’s
headquarters.

Ife v T Tarad & A FHII B ALY FATHG UTAT AT AT SHBT ol Y
fAprem ST 7

(A) SHST & UH TAFT DN |

(B) HPI Tl ATHA I |

(C) 3ThT g AT FH3T AN TYh dob H dgAd & 2lam |

(D) ZH®T & UTH UAIT & LIS I ATH FHT Bl |

38. Which of the following are the features of a notified area committee ?
(A) It is constituted for a newly developed town.
(B) It is entirely a nominated body.
(C) Its power are similar to the powers of municipal council.
(D) All of these

farafef@a d & dla-d Adua yfaga a7 afafa & g=efRa § 7
(A) ZHHT T34 A9 AT TR & favw fhar ST & |

(B) IE Quid: aATfAd e § |

(C) swH 3R FAIRurforepr aRug 6T ARKAT FAT § |

(D) & gl

39. The administrative department of urban bodies in Chhattisgarh state is
(A) Corporation Office
(B) District Administration
(C) Urban Administration and Development Department
(D) Institute of Local Government

SAEIe o A R Al & geamadhg [aemT §
(A) ST wrafer

(B) fSrerm uemaa

(C) IR URmE Ud faehrE TasmeT

(D) TUET ATHA TEATA
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40. The establishment year of Raipur municipality is

(A) 1956 (B) 1961
(C) 1867 (D) 1992
IIQR AIRUTTOIhT 1 EATTAT a¥ &

(A) 1956 (B) 1961
(C) 1867 (D) 1992

41. How many members are in the Mayor-in-Council ?
(A) Mayor and 20% of elected members
(B) Mayor and 25% of elected members
(C) Mayor and 15% of elected members
(D) Mayor and 10% of elected members

MR-3T-F3RST & Fedl H Tear fhde @ & ?
(A) #eMR vd RaifRd uel & 20%
(B) #egmak vd Raifd uel &1 25%
(C) #ek vd RaifRd uel &1 15%
(D) #ek vd HaifRd uel & 10%

42. In which urban body the ‘Municipal Account Committee’ is formed ?

(A) Municipal Corporation (B) Municipalities

(C) Nagar Panchayats (D) Notified Areas
‘FIRuTterp ol fAfa’ &1 e fohg T A # gar § 7
(A) FIRUTferhT oA (B) WRUIferpd

(C) TR dard (D) 3Rfa &t 3

43. Who is the Chairman of ‘State Urban Development Agency (SUDA)’ ?
(A) Chief Minister
(B) Departmental Minister
(C) Mayor
(D) Chairperson of Municipal Corporation
‘U AET TIhprE HTHAIOT &b 3HeTeT hid 8ld & 7

(A) FeFad

(B) fasmefa o=

(C) #HEak

(D) IRurferar e & gamfa

Sports 12



44.

45.

46.

47.

48.

Which is the major mineral of Chhattisgarh state from the followings ?

(A) Coal (B) Tin

(C) Granite (D) Fire Clay
SIS T & JHE Wiasl e # @ ¢ -

(A) g (B) fea

(C) J=rse (D) BRR Fo

In the view of Area of Forest in the country, Chhattisgarh state place is
(A) First (B) Second

(C) Third (D) Fourth

ST & T4l & &%l DI T8 ¥ SeaIe T Bl TAT &
(A) wuH (B) fgda

(C) e (D) =gy

Which is the least irrigated district of Chhattisgarh ?
(A) Kondagaon (B) Dantewada
(C) Bijapur (D) Sukama
BAIE Bl TIH »H [{Rg Ser dla ar g ?

(A) PUEHENG (B) gedarst

(C) draTg (D) g

Four identifications of Chhattisgarh state are - Narva, Garua, Ghurua and

(A) Aangan (B) Khalihan

(C) Talab (D) Bari

SAHIG & IR Kool § - @, Ran, grar ik
(A) 3= (B) wforer

(C) drerrr (D) arsr

At what rate per quintal paddy is purchased by Chhattisgarh Government in
the year 2018-19 ?

(A) ¥2,500 (B) %2475

(C) T2,450 (D) %2425

SANIIE WPR & a§ 2018-19 & ufad fFdea fra X @ 9 &r @l &
¥ 7

(A) 2,500 (B) %2475

(C) T2,450 (D) %2425
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50.

51.

52.
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First train of phase 1 in east rail corridor project by South-East-Central
Railways ran between following two stations :

(A) Kharsia to Garepalma (B) Kharsia to Dharamjaygarh

(C) Kharsia to Korichhapar (D) Kharsia to Hati

GAUT-qd ALY Y6 gRT 3¥C Yol PSR URIASTAT & JUH TROT H Tgall o
Ao g1 TeERE B AT TS TS -

(A) =Rfaar & siRuresm (B) &A1 € WRATIIG

(C) & § s (D) wIf&ar € @

Which specially abled mountaineer from Chhattisgarh has climbed the
highest mountain peak Kilimanjaro located at Tanzania in Africa ?

(A) Banshilal Markam (B) Chitrasen Sahu

(C) Shashikant Kaushik (D) Sumit Kumar

oaraee & fhea e udaridr a b & denfaar Rfyd e 5 uda
T ThASRI W ®els elidel T & 7

(A) aefrelrel AIRTH (B) f=aa &g
(C) ufrpr=d HifAw (D) g#id AR
SPORTS

Takshshila was famous for which sport in ancient age ?
(A) Horse riding (B) Pranayama (C) Archery (D) Yoga

Ui g1 § q&fiRraT food Wd & forg uikig o1 2
(A) Y89’ (B) UMUM@ (C) Ygfd=mr (D) TN

The ‘Sliding Filament Theory’ is the Theory of

(A) Cognitive Learning (B) Transfer of Training
(C) Muscle Contraction (D) Eye Movement
e fhaic i wIRigEy |

(A) TRFATHD SHRTH (B) TIRI&0T RIHIROT
(C) U= dgpad (D) == Iga
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53.

54.

5S.

56.

57.

58.

Who is the father of modern Olympic Games ?

(A) Carl Lewis (B) Pele

(C) Pierre de Coubertin (D) Michael Jonson
MY SIS Al BT oD DI B 7

(A) BT T B v

) TTRfsgafda (D) HizHd A9

From Which Olympic Games ‘Olympic Flag’ was introduced ?

(A) 1920 (B) 1924 (C) 1928 (D) 1932
o siifciie W 9 il sao URY g3 »

(A) 1920 (B) 1924 (C) 1928 (D) 1932
In which Olympic Games ‘Olympic Flame’ was introduced ?

(A) 1924 (B) 1928 (C) 1932 (D) 1936
fora Sniferiiie Wa ¥ «3Hifefie A=ma UIRY S ¢

(A) 1924 (B) 1928 (C) 1932 (D) 1936
In which Olympics Karnam Malleswari won bronze medal in weight lifting ?
(A) 1992 (B) 1996 (C) 2000 (D) 2004
g anferfire # HulA Ayt 3 HRINEE A &1 U SitdT ¢
(A) 1992 (B) 1996 (C) 2000 (D) 2004
Who is the father of Basketball ?

(A) Dr. Graeme Smith (B) Dr. James Naismith

(C) Dr. S. Morgan (D) Dr. G.D. Sondhi

IRB A BT TTh DT 7

(A) S 9H {1y (B) I SRy ARy

(C) 1.7 A (D) ST 8l. Tial

Who is the first woman Arjun award winner ?

(A) P.V.Sandhu (B) Geeta Sandhu

(C) Stephie D’Souza (D) P.T. Usha

35 3ATS Sia- aTel Ty AT B & 7

(A) Uldt 9y (B) TdrdyY

(C) LW fSgan (D) W.&.3IW
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60.

61.

62.

63.

64.
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Where the 2012 Olympic Games were organized ?

(A) Tokyo (B) London (C) Paris (D) Beijing
2012 3T Wd Hal Ad gu A +

(A) <ifar (B) e €) uRg (D) ST

Fed Cup belongs to which game ?
(A) Tennis (B) Table Tennis (C) Badminton (D) Hockey

s B by Td I TfId g 7
(A) o9 (B) @I (C) dsffied (D) gl

According to Buck Walter, which is not an objective of Physical education ?
(A) Health (B) Worthy use of leisure time
(C) Ethical character (D) Emotional development

T dlecy b YR, B G ARG RI&THT I TR 7
(A) WY

(B) 3fAHIRI & JHT BT 3ad STIRT

©) Afdw el

(D) HIATHD fabr

Who is the Father of Idealism — as a Philosophy of Physical education ?
(A) Plato (B) Socrates (C) Auristotle (D) Confucius

RIND &1 S SR & U H SHEAE BT TP BT @ »
(A) &l (B) IgdxId (C) SR (D) HTHRIRY

Which is the oldest theory of Philosophical Foundation of Physical
education ?
(A) Idealism (B) Naturalism (C) Realism (D) Pragmatism

RIS R8T P TR YR BT URIH RIgid ST aTe 7
(A) 3flaRiale  (B) Udfddle (C) IUfdle (D) UNUMHdIG

According to Thorndike, which is not a law of learning ?

(A) Law of Direction (B) Law of Effect
(C) Law of Readiness (D) Law of Exercise
UHSTES &b SITIR, B T 3T &7 o 78T |

(A) Fezm s fam (B) UHTd &1
(C) TR P =aH (D) 3N &I 499
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65.

66.

67.

68.

69.

Who gave this definition of Play, that “Play relates to any activity engaged
in for the enjoyment it gives, without consideration of the end result” ?

(A) J.S. Rass (B) Hurlock
(C) Crow and Crow (D) Thorndike

T &1 g URHE i <t 7, < sifar ulom iR faar feu fom e
T fafafyr 3 g § o it 89 IR I8 TR U #RdT g 2

(A) S.TH. I (B) Bdlld

(©) PITSHI (D) UMSTEH
Who developed the theory of Surplus Energy of Play ?
(A) Herbert Spencer (B) Karl Gross
(C) Stanly Hall (D) Lazarus

WA ot ffaRad Foll (RET Te 3P ) H1 g feaq fosfa
foar -

(A) BIE W (B) BT I

(C) Wl g (D) TOIRY

Who abolished the ancient Olympics in 394 A.D. ?

(A) Theodosius (B) Pierre de Coubertin

(C) Theodore (D) Leonidas

29! I 394 H U Sfifer e &1 foram T foar »
INBREISIRER] B) fUaRfepaféa

€) EarsR (D) feraied

In which year the British Olympic Association was established ?
(A) 1895 (B) 1986 (C) 1905 (D) 1906
fafexr siferares TaHiRuRE &t R g ai A g3 »

(A) 1895 (B) 1986 (C) 1905 (D) 1906
Who described the learning curve first ?

(A) B.F. Skinner (B) Herman Ebbinghaus
(C) Ivan Pavlov (D) Edward Thorndike
SHTRRTH Ish FAUYH e SURaATRId foba -

(A) d.UF. WBIR (B) BHA SIS

(C) 3 UIGdd (D) USdS UHaR®
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70. When was the L.N.I.P.E. Gwalior established ?

(A) 1957 (B) 1965 (C) 1975 (D) 1984
TA. U318 U1 3. IR & RIMAT Ha g5 7
(A) 1957 (B) 1965 (C) 1975 (D) 1984

71. Who was the First Principal of Y.M.C.A. Madras ?

(A) P.M. Joseph (B) A.K. Singh
(C) H.C.Buck (D) H.K. Verma
TR.UH T T TS BT 0 UTER 1 T ¢
(A) T.TH. IR% (B) T, Rig
C) I IH (D) Ta.&. qH
72. When was the H.V.P.M. Amravati established ?
(A) 1909 (B) 1914 (C) 1924 (D) 1925
9.3t . uH. SRIGd B R e g5 ¢
(A) 1909 (B) 1914 (C) 1924 (D) 1925

73. When did the government of India launch “Nehru Yuva Kendra” scheme ?

(A) 1962 (B) 1965 (C) 1972 (D) 1975
YR WBR A AgE gl g Ao e YRY D 7
(A) 1962 (B) 1965 (C) 1972 (D) 1975

74. When the Sports Authority of India was registered as a society ?

(A) 1982 (B) 1983 (C) 1984 (D) 1985
YR A WIHROT T T AT o U H USTip] [ a8 g3 ¢
(A) 1982 (B) 1983 (C) 1984 (D) 1985

75. Scientific study of bones is called
(A) Astrology (B) Osteology (C) Anthology (D) Myology

SR} BT AP T Hedrdl ©
(A) TE : (B) &r“rf%aﬁlx—sﬂu I
ORYIGIE] (D) HEIQ@TS
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76.

77.

78.

79.

80.

81.

In which Olympic Games Indian Team had participated for the first time ?

(A) 1904 (B) 1920 (C) 1924 (D) 1928
aifafRre Qe o YRdTa & 3 gawm fow oy e for ¢

(A) 1904 (B) 1920 (C) 1924 (D) 1928
Who was the First President of Indian Olympic Association ?

(A) Sir Dorabji Tata (B) D.G. Sondhi

(C) A.G. Neohren (D) G.D. Sondhi

YR SR T9 & UAH e D Y ¢

(A) TR GRISSH CeT (B) SISl Hid

(C) TSN FaRA (D) Si.3%. el

Who is the present world record holder of 800 m run for men ?
(A) Morris Green (B) David Rudisha

(C) Usain Bolt (D) Michael Jonson
TBYI &1 800 m GG BT qaH RPISURI P | 2

(A) ARG AT (B) Sfdswsi=m

(C) I dIee (D) HISH AT

When did Government of India start Arjuna Award ?

(A) 1960 (B) 1961 (C) 1974 (D) 1975
HYRA PR 39 31aTS Hd URY T ¢

(A) 1960 (B) 1961 (C) 1974 (D) 1975
When the First Asian Games were organized in India ?

(A) 1% to 4™ March, 1951 (B) 4" to 11" March, 1951
(C) 1%to4™ April, 1951 (D) 4" to 11™ April, 1951
YRA H TYH IR TR Wd Hd S gu »

(A) 1949, 1951 (B) 49 119M, 1951

(€) 13430, 1951 (D) 4911 310, 1951
Which is the biggest bone in human body ?

(A) Femur (B) Tibia (C) Fibula (D) Radius
Ad TRR T I8 981 SRY DA R

(A) IR (B) <ifed ) fihgan (D) ISTT
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82.

83.

84.

85.

86.

87.
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Who gave the ‘Trial and Error’ Principle of learning ?

(A) B.F. Skinner (B) Sigmund Freud

(C) Ivan Pavlov (D) Edward Thorndike
S{FTH PT Wierur g Ffe g fvwq faar »

(A) §1.0%. THIR (B) RrHewius

(C) 3 UIGAd (D) USds UHaR®
Which National award is given to a coach in India ?

(A) Arjun Award (B) Dronacharya Award
(C) Sardar Patel Award (D) Eklavya Award
YRA H for el UR1& (1) D1 D19 1 I QIR (AT ST g 7
(A) 3T REBR (B) SIUMET REBR
(C) WER Ucd RIHR (D) Thdd [RIPR

Which country developed the modern Tennis ?

(A) America (B) England (C) Germany (D) Spain
fopd q=1 1 sy ¢ o1 fasm fobar »

(A) SARHT  (B) TS (C) SHA (D) WA

C.K. Nayudu Trophy belongs to which game ?
(A) Football (B) Tennis (C) Cricket (D) Table Tennis

WP, g oTh frg T A el g »
(A) Pedld  (B) <9 () fohbe (D) cdd <

Cardio-Vascular endurance depend on

(A) Vitamins (B) Fat (C) Minerals (D) None of these
&Y -aIe T &l FHR Fxcll 8

(A) faerfaq (B) ol

(©) e (D) STHI BTl

What is the official distance of a marathon race ?

(A) 41.192 kilometres (B) 42.00 kilometres

(C) 42.195 kilometres (D) 40.195 kilometres
TRTYA 1S BT TP BRI b1 BT g 7

(A) 41.192 fparHTeR (B) 42.00 fhadiex

(C) 42.195 faHier (D) 40.195 fpaHiex
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88.

89.

90.

91.

92.

93.

Which is the longest cell in human body ?

(A) Red blood cell (B) Nerve cell

(C) White blood cell (D) Platelets

HMd TRR H T el SIS DA A S ¢

(A) QT ad HIRABT (B) dfAPT BIRHT

(C) 4 3ad PIRABI (D) Wiedcy

When was the School Health Committee established in India ?

(A) 1956 (B) 1958 (C) 1960 (D) 1962
YR ¥ fqeTed W@ Qi & R0 &4 g3 o 2

(A) 1956 (B) 1958 (C) 1960 (D) 1962
In which Olympics, Women Fencing was introduced for the first time ?
(A) 1924 (B) 1920 (C) 1916 (D) 1928
forg anferfie o ugelt aR Afgar siipier (@RI TRY g3 0 2
(A) 1924 (B) 1920 (C) 1916 (D) 1928

Which University won the first Dr. B.L. Gupta General Championship
Trophy ?

(A) M.D.U. Rohtak (B) G.N.D. University

(C) Punjab University (D) J.N.D. University

fory farsyformera = T SF. Y U9, T SR A A== it Shih 2
(A) TH.SL.Y gD (B) Si.u.8l. fayfaenea
(C) GoITd fasyfaemer (D) ST, fayfaenea
How many feathers are there in a standard badminton shuttlecock ?
(A) 19 (B) 18 (C) 16 (D) 17
T HHS sSfticd eddie | fbdd tagld g 2

(A) 19 (B) 18 (C) 16 (D) 17
Which of the following is not a gymnastic event ?

(A) Balance Beam (B) Roman Bars

(C) Parallel Bars (D) Uneven Bars
fFrafafad & o ar fmnfes 9a T8ie »

(A) SAgdH (B) JHA SN

(€) Waasy (D) 3Fsa- o
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9s.

96.

97.

98.

99.
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What is the measurement of Volleyball court ?

(A) 8 x8m. (B) 9x9m. (C) 9x18m. (D) 8x16m.
o v A

JreSid AgH HTA TS 7

(A) 8x8H. (B) 9x9H. (C) 9x18Hl. (D) 8x16H.

How many calories, one gets from 1 gm fat ?

(A) 7 gm Calories (B) 8 gm Calories
(C) 9 gm Calories (D) 10 gm Calories
1 19 391 Y fha RS U gl g 2

(A) 799 SRS (B) 8 UTH HARIS
(C) 9T BRI (D) 10T™

Which Indian text was written by Maharshi Patanjali ?
(A) Ananda Sutras (B) Veda Sutras
(C) Yoga Sutras (D) Marg Sutras
T gaoiiel R I A1 YR UIS (Cahe) forat 7T
(A) HC A (B) 9

(C) AT (D) AN

Which county changed the name of ‘Track and Field’ to ‘Athletics’?
(A) England (B) Yunan (C) Germany (D) France

7P TS Hics’ HT1H deadh Tifeay T -
(A) 3TS (B) M (C) S (D) Wid

Who was the first winner of Modern Olympic Games ?

(A) James Connolly (B) Carl Lewis
(C) Mark Spitz (D) Ray Ewry
YD SIS Wl BT YU faoidT 1= o »

(A) ORI I (B) T qlldd
(C) A e (D) YT
Which of the following is not a waterborne disease ?
(A) Typhoid (B) HIV

(C) Cholera (D) Dysentery
fgfiad § T 9 I Sas—d A8l § 2

(A) 3ESR (CABISS) (B) TI3ATRAl
(©) Tl (D) U
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100.

101.

102.

103.

104.

10S.

How many water jump are there in 3000 mtr. steeplechase run ?

(A) 6 (B) 7 C) 8 (D) 9
3000 HeX LU aIs | fda- aeX S gId § 2
(A) 6 B) 7 ©) 8 D) 9

Which is the largest muscle in human body ?

(A) Deltoid (B) Gluteus Maximus
(C) Triceps (D) Biceps
A9 IRR A o ST Ut P A E »

(A) SIS (B) iy AfRyd
(C) grEw (D) STEH

Which is not a part of the circulatory system ?

(A) Ventricle (B) Diaphragm (C) Atrium (D) Artery
B I UREEROT 7 BT U a1 6 7

(A) e (B) S”WMH  (C) 3ffdig (D) YT

Which is not a part of respiratory system ?

(A) Trachea (B) Lungs (C) Liver (D) Nose
DI T YTA-IA BT U 51 © 2

(A) cforan (B) g (C) TPhd (D) A%

Which is not a part of nervous system ?

(A) Neuron (B) Spinal Cord
(C) Cerebellum (D) Larynx
B T IRBI-dT BT HUIT TR 7
INIGIEERCaIRIED (B) ﬁw
(C) AR (D) TR

What is the height of hurdle in 110 metre hurdle race for men ?
(A) 0910 M (B) 0940M (C) 0.980 M (D) 1.067M

B Bt 110 HeX T SIS & I B G dTs FT B | 7

(A) 0910H.  (B) 0.940H  (C) 0.980H. (D) 1.067Hl.
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107.

108.
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110.

111.
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Which is not a part of endocrine system ?

(A) Liver (B) Thymus (C) Medulla (D) Pancreas
I T 3G I BT UFT T 7

(A) TP (B) ¥IEFE (O HEA (D) SMARM
What is the full form of BM.I. ?

(A) Body Men Index (B) Body Measure Index

(C) Body Mass Index (D) Body Mape Index
BMLBTRIETRTE 7

(A) SIS ATESH (B) WISl OoRSSH

OIS EIRESES] (D) SISIHUSSH

Which is not a component of skill related fitness ?

(A) Agility (B) Speed (C) Flexibility
D T B Yot e BT ucsh T8l 8

(A) G&IdT (B) Tid (C) =l
Which is not a technical standard of test selection ?
(A) Objectivity (B) Reliability
(C) Validity (D) Utility
DI T URI&IUT T T deb-1ch] HIFb el § ?

(A) Ie=gdl (B) Tayg=irge
(C) duar (D) IUTAYT
Which is not a practical standard of test selection ?
(A) Time (B) Utility (C) Fund

DI T U1 T BT Ui AT 8l § 2

(A) THT (B) JUTIRAT  (C) &N

When was the ‘AAHPERD’ Fitness test formed ?

(A) 1940 (B) 1944 (C) 1948
3{TEUS (AAHPERD) fhe- UR1&f01 o d ST TIT +
(A) 1940 (B) 1944 (C) 1948
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112. When was the Harvard step test formed ?

(A) 1943 (B) 1944 (C) 1957 (D) 1958
gTdS WU UNefU & ST 74T
(A) 1943 (B) 1944 (C) 1957 (D) 1958

113. What is the full form of NSNIS ?
(A) Netaji Subhas National Institute of Sports
(B) Netaji Subhas National Institute of Science
(C) Netaji Subhas National Institute of Study
(D) Netaji Subhas National Institute of Survey

NSNIS &I RTET TG 7

(A) TSI GHTY AR S¥ICGC 3 Wiy
(B) IOl GHTY =M S ICIC Hh A8y
(C) TSI UTY AR SHKICYC 3 Tal
(D) =TSl GHTY A2 S Icge 31 Td

114. When was the Johnson basketball skill test formed ?

(A) 1934 (B) 1943 (C) 1935 (D) 1953

S SRSl PIRTS URTETTT Dl ST 7T 7

(A) 1934 (B) 1943 (C) 1935 (D) 1953
115. Which test is not a part of AAHPERD basketball skill test ?

(A) Shooting Test (B) Passing Test

(C) Throwing Test (D) Dribbling Test

%ﬁqwuﬁwm(AAHpEm)Wﬁwuﬂmmmﬁ

(A) ST uieror (B) OTRT Giemum

(C) UL Tgerr (D) TEafiadem
116. Which is the component of Russell Lange volleyball skill test ?

(A) Service Test (B) Passing Test

(C) Wall Pass (D) Smash Test

DI T A o dTeiadl DRI TRI&UT BT UCH § 7

(A) Tfaq gtem (B) OTRITTUte&or

(C) AU (D) T Tt
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121.
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How much carbohydrate is necessary for an athlete ?

(A) 30 to 40 % (B) 40 to 50 %

(C) 50to 55 % (D) 60 to 65 %

forft wefie & forw fpan wrelesge @ SaxaHd g #

(A) 30H40 % (B) 40950 %

(C) 50955 % (D) 60365 %
According to Kretchmer, how many types of personality are there ?
(A) 2 (B) 3 ©) 4 D) 5
HIIR & IR fhd- YR & Afadd gId g 7

(A) 2 B) 3 ©) 4 D) 5
Which is not an open wound injury ?

(A) Abrasion (B) Burning

(C) Cut (D) Awvulsion

B I gar g dic Tel | ¢

(A) TRIT (B) STl

(C) & (D) S{UGRUT (Tl

What is the width of stop line in javelin throw ?

(A) 40 mm (B) 50 mm (C) 60 mm (D) 70 mm
HTeT Thep H T AT bl AiSTs FTEIal § 2

(A) 40 mm (B) 50 mm (C) 60 mm (D) 70 mm

What is the diameter of shot-put for senior men ?

(A) 95to 110 mm (B) 105to 115 mm
(C) 110 to 120 mm (D) 110 to 130 mm
R geut & fore Mar (Afeye) HT AT BT g 7

(A) 95T 110 mm (B) 105¥ 115 mm
(C) 1109 120 mm (D) 1109 130 mm

Indira Gandhi Gold Cup is related to which game ?
(A) Football (B) Hockey (C) Basketball (D) Kabaddi

gfexT el ies HU fpg T A Tefdd g -
(A) pedid (B) Bid! (C) dR&cdld (D) PHag!
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123. In type-2 Lever,
(A) load is between the Force and Fulcrum
(B) fulcrum is between the Load and Force
(C) force is between the Load and Fulcrum
(D) None of these

TI3U-2 (iaR |

(A) HR T 3R AT S AL G B |
(B) 3Mdd HR R IA S AL AT |
(C) T HR 3R T H AL FIATS |
(D) STHYBIS I

124. Which is the correct formula of work ?
(A) W=F+D B) W=FxD (C) W=F-D (D) W=F/D
S FT ARG T DR 7

(A) W=F+D (B) W=FxD (C) W=F-D (D) W=FD

125. Which is the last grand slam of the year ?

(A) U.S. Open (B) Australian Open
(C) French Open (D) Wimbledon
T BT AR TS WA DG

(A) J.U9. 31U (B) 3fieclera o=
(C) W 3HgA (D) faracred

126. ‘Which is not a method of Flexibility Training ?
(A) Ballistic method
(B) Slow Stretch and hold method
(C) Isokinetic Method
(D) Post Isometric Method

1 Tt TRIdT uierr o fafer 78l g -

(A) W&t fafy

(B) 8 T (X¢d) 3R AB (BIes) fafdy
(C) THITfaet fafd

(D) UY TGRS fafd
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127. Co-ordinative ability is sum of how many types of abilities ?

GG R ARG fha- UBR Bt Agaraeii o1 i g 2
(A) 5 (B) 6 €) 7 (D) 8

128. Which is not a Technical / Skill training method ?

(A) Presentation method (B) Trial method
(C) Co-operation method (D) Task method
B U qbIb1 /P I RIE0T AR T8 & -

(A) TcitenRor fafer (B) TRI&urfafy
(C) THgy fafd (D) Fud®r fafy

129. When were the 9th Asian Games held ?
(A) 4% to 11t October - 1982
(B) 14t to 215t October - 1982
(C) 19 November to 4t December - 1982
(D) 25% November to 9th December — 1982

9d TR W $Ha A gU 7
(A) 4T 11 IR, 1982

(B) 14921 3fACeR, 1982

(C) 19TdeR ¥ 4 faTeR, 1982
(D) 25 TdeR ¥ 9 faTaRr, 1982

130. When was the School Games Federation of India established ?

(A) 1951 (B) 1954 (C) 1982 (D) 1985
A TR Bex®H 3 ST ! RN Ha g3 ot 7
(A) 1951 (B) 1954 (C) 1982 (D) 1985

131. Who gave the “Anticipatory or Practice theory of play” ?

(A) Herbert Spencer (B) Karl Gross
(C) Stanly Hall (D) Aristotle

«0d DT GATHIRI ST 31 Ry fare faa »
(A) BIE W (B) T I

(C) el g (D) SR¥]
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132.

133.

134.

135.

136.

137.

‘Where is the origin of sports medicine ?

(A) America (B) Germany

(C) Yunan (D) None of these
3NSfE BT 3G HI Bl g3l 7

(A) 3R (B) ST

(C) g (D) TH AP Te!

What is the Unit of Force ?

(A) kg. (B) km.

(C) Newton (D) None of these

§0 1 P13 TG 7

(A) T (B) Tl

(C) e (D) THIDIT !

How many types of Periodization are there in sports training ?

(A) 2 B) 3 ©) 4 D) 5

Tt ufR1efor B fobd UbR & Sfaehiepur (iRaszae ) gla g »

(A) 2 B) 3 <€) 4 (D) 5

How many components are there in skill related physical fitness ?

(A) 5 (B) 6 <€ 7 D) 8

SN et TS e g A fra I UeR F ach § #

(A) 5 (B) 6 < 7 (D) 8

When was the World Health Organization established ?

(A) 7" April,1948 (B) 4" May, 1966

(C) 1% May, 1955 (D) 8" May, 1955

fa%y TRy WS- ST R e gs A

(A) 73U, 1948 (B) 473, 1966

(C) 1H3, 1955 (D) 8H%, 1955

When was the Indian Red Cross Society established ?

(A) 1920 (B) 1925 (C) 1940 (D) 1950

YRR IS DI FIATSC] &1 R 6 g5 A 7

(A) 1920 (B) 1925 (C) 1940 (D) 1950
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139.

140.

141.
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Which vitamin cannot be stored in our body ?

(A) Vitamin-A (B) Vitamin-C (C) Vitamin-D (D) Vitamin-F
for fareTfir o1 3R TR B SR el Sl uahd § ¢

(A) faaiiiF-A  @B) fdaf®q-c (¢) faaff=-p (D) fderif®E-F

How much part of human body is made of water ?

(A) 4/3 of Body Weight (B) 8/4 of Body Weight
(C) 2/3 of Body Weight (D) 1/4 of Body Weight
AT TRR &1 fra1 fiewar o ¥ fAffa g -

(A) TR HURBT4/3 (B) IRR HR PHT8/4
(C) TRRURB12/3 (D) IRRHUR DT 1//4

How many calories one gets from 1 gram of protein ?
(A) 4 Calories (B) 7 Calories (C) 8 Calories (D) 9 Calories

WNATH 1 T ford AR U BT 8 7
(A) 4FART  (B) 7HARI  (C) 8§FARI (D) 9 HAR!

Which is the ball and socket joint ?

(A) Shoulder Joint (B) Knee Joint

(C) Elbow Joint (D) Wrist Joint

DI T I (ST TUS Widhe SRS § 7

(A) DY PR (B) Y4

(C) Pl Efy (D) Hars HfY

What is the weight of hurdle in 3000 metre steeplechase run ?
(A) 50kgto 70 kg (B) 60kgto 75 kg

(C) 70kgto 75 kg (D) 80kgto 100 kg
3000 HIeX U< G H ST BT o T EIAT § 2

(A) 50 fHuTT 70 fopom (B) 60 fams 75 foun
() 70 fpam ¥ 75 fooum (D) 80 fHuT Y 100 fooum

30



143.

144.

145.

146.

147.

148.

Who won the first Rajiv Gandhi Khel Ratna Award ?

(A) Sachin Tendulkar (B) Vishwanathan Anand
(C) Pankaj Advani (D) Virat Kohli

T Iroid Tt Wl Id GRIBR g St -

(A) TR dgam (B) a1y 311g

(C) Ul 3rSaruft (D) forTe dlga

Who is the first and only sportsperson to win Bharat Ratna Award ?
(A) Vishwanathan Anand (B) Sachin Tendulkar

(C) P.T. Usha (D) P.V.Sandhu

YR ¥ RIBR U 63 aTall GYH 3R T A fIarst w8 7
(A) TayTy 3g (B) HfeH dgaar

(C) Ut 3w (D) U4l 9y

Which is the biggest gland in human body ?

(A) Pituitary (B) Adrenal (C) Liver (D) Pancreas
A9 IRR A G ST YA P A E 7

(A) gy B) UgT@  (©) FPd (D) 3rTRY

How many ventricles are there in the human heart ?

A9 gcd A fpa- e gia g 2
A) 1 (B) 2 ©) 3 (D) 4

Interval training is useful to develop

(A) Speed (B) Endurance (C) Flexibility (D) Power
3RS (Zevdd) Ufierur fheds fasmm o Suanfi @ »

(A) TIfd (B) Wegaufdd (C) F®=idl (D) Xfad

Harvard step test is used to measure

(A) endurance (B) strength (C) flexibility (D) speed
BIAS WU TRef0r 1 ITINT foreieh AT B EIT | 7

(A) geRifed  (B) AW (C) = (D) Tfd
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What is the length of baton exchange zone in 4 x 100 m. relay race ?

(A) 10m (B) 20m (C) 30m (D) 40m
4 x 100 HIX RA EIS T S TRI<Sl S &1 TS T Blal g 2
(A) 10m (B) 20m (C) 30m (D) 40 m

What is the weight of men’s javelin ?

(A) 600 gms. (B) 700 gms. (C) 800 gms. (D) 900 gms.
HIST Bhh W B S8 P T BT ol fhaT gl g #

(A) 600 UTH (B) 700 UTH (C) 800UMH (D) 900 UTH
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